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1. Find tThe measure of angle’'s A & B and explain your reasoning.
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2. ABCD is a parallelogram. What angle is congruent to <ADR and what

segment is congruent to BR?
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3. How do we prove that a quadrilateral is a kite?
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4. Under whc*} types of qucdmIGTer‘ols will you find a'square?
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5. An isosceles trapezoid has an area of 120 in?2. If the bases are 14 and 16,
find the height.
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c / Prove: AGHJ = AIFJ @
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10 Given: AABC is an equilateral Triangle and ADEF is A
a parallelogram. S D
Prove: Prove: <DEF = <ACB
© = B
11 Given: L7 ABCD, with BD a diagonal
Prove: AABD = ACDB
12. Find the area and perimeter of the rectangle. v
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13. ABCD is an Isosceles Trapezoid. E & F are the midpoints of AD and BC.
Find the values of x and y if AB=3x+30, EF = 35, CD=7x, BF= y+15 and

D = 3y-3. L & B
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14. Find the perimeter: 15 cm p b 3
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15 Find the area.
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16 Find tThe perimeter and area of the kite: 4 i e
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17. Ken and Molly are making a kite for a competition. Their sketch is
Helow. o5-5Y O - 7 ( );3"/“%' 2e

£25 They plans to make the kite out of rice paper and to trim the edges with
gold braid. Determine how much the kite will cost them if the rice paper is
15 in by 15 in and sells for $5.50 a sheet and the braid for $0.15 an inch.
Show all of your computations for figuring the price.
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